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1. Find the unit digit of the product ( 879 x87 989x 9939 x 84329 )
879x87 989 x 9939 x 84329 ) IUTTthel T FehTS 3ieh ATl Y|

Y]

0O

(
(@)9
(b) 1
(c) 8
(d)7

2. Find the unit digit of the product ( 9286 x 521 x 879 x 7285)
9286 x 521 x 879 x 7285) I[UTeIthel T FehTS 37eh AT Y |

Q

(2)

(
()0
(b) 1
(c) 2
(d)3

3. Find the unit digit of the product ( 987 x 821 x 98971 x 8975)
987 x 821 x 98971 x 8975) I[UTeTthel ohl GehTS 3Heh AT |

)0
)5
)2
d)3

O T QO

(
(
(
(
(

4. Find the unit digit of the no. ( 3975 - 825 x 3 + 5287 + 9999 x 9 )
T &7 ShTS 37 (3975 - 825 x 3 + 5287 + 9999 x 9) AT HY|
(@7

(b) 8
(c)6
(d)5
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5. Find the unit digit of the no. ( 987525 x 2 + 100 + 98-7)
987525 x 2 + 100 + 98 - 7) TEAT HI ShI5 3idh AT HIfT|
)
)

Y]

1
8

O T
N
w

(
(
(
(
(

d) 4

6. The digit in unit's place of the product 81 x 82 x 83 x...x 89 is
IUTthel 81 x 82 X 83 X...x 89 % TS AT I 3 ¢

(@ao

(b) 2
(c)6
(d)8

7. What is the unit digit of: 167 x 2183 x 497 x 839 x 235 x 111 x 1039 x 251 x 563 ?
167 x 2183 x 497 x 839 x 235 x 111 x 1039 x 251 x 563 & Seh[S 37 FAT §?

(@0

(b) 5
(c)1
(d)7

8. 6185 x 6185 x 6185 999 times, then find unit digit.
6185 x 6185 x 6185 999 TR, AY SHTS 37 AT H|
(@) 5

(b) 0
(c)2
(d)3
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9. If the unit digit of 433 x 456 x 43N is (N + 2) then what is the value of N?
Tfe 433 x 456 x 43N T 5HIS 37 (N + 2) &, df N &7 AT F4T B
(a) 1
(c)3
(b) 8
(d) 6

10. Find the unit digit of the 4578
4579 2T ZehTS 3eh AT Y |

11. Find the unit digit (633)2 - (277)% + (266)%
(633)% - (277)% + (266)>* FT SHIS 37eh 1T &1 |
(a7
(b) 8
(c)0
(d)9

12. Find the unit digit of the 39-38°
39389 T TS 37 AT |

(a)5
(b) 6
(c)7
(d)8
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13. Find the unit digit 79-3%,.
798-3% 3RS 37 ATd B
(@)0
(b) &
(c)3
(d) 4

14. Find the unit digit 4%°-4%.
4%°-4% ZhTg 37h FATcT |

(a) 2

(b) 4
(c)6
(d)8

15. Find the unit digit 282°-282.
2829-282 IS 37k AT L
(a)2

(b) 4
(c) 6
(d) 8

16. Find the unit digit (35)¥ - (35)%.
(35)¥ - (35) SehIS 37k ATl P
(@0

(b) 5
(c)2
(d) 4
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17. Find the unit digit (28756)% - (25672)*.
(28756)% - (25672)" SIS 37k AT HY |
(a)2

(b) 4

(c)6

(d)8

18. What is the digit in the unit's place of the number represented by 3% - 3% + 7%
3% - 3% + 7% EaRT G2NS IS TEAT & ST TUTT X HieT AT 37 &7

(a) 3

(b) 6
()7
(d) 9

19. Find the unit digit of expression. (922)"" - (328)"° - (156)'%° - (229)""" - (124)*°
922)"1 - (328)"° - (156)'2 - (229)" - (124)%° overline 04 vartheta4 & SHIS 3ieh AT HToIT|

(
(a) 1
(b) 5
(c)4
(d)2

20. The unit digit of the expression 25%%°' + 36°% + 73% is?
259751 + 36520 + 73% S oTeh T FehTS 3eh T 572

(a) 6

(b) 5
(c)4
(d)0
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21. If x = (164)'%° + (333)%7 - (727)"% then what is the unit digit of x?
Ife x = (164)'%° + (333)%7 - (727)"% QY x T SHIS 37eh FAT &7
(@) 5
(b) 9
(c)8
(d)7

22. Let x = (633)% - (277)%® + (266)** What is the unit digit of x?
AT fIfST x= (633)% - (277)® + (266)% T SHIS 37eh FAT 872
(a) 8

(b) 4
(c)6
(d)7

23. The last digit of the expression: 12 + 23 + 3* + 4° + 56 + 67 + 7° + 8% + 9" js:
SUSTh 12+ 23 + 34 + 45 + 55 + 67 + 78 + 8% + 910 &7 37 37k &:

(a) 0

(b) 6
(c) 1
(d) 5

24. Find the unit digit 16 + 2° + 3% +......+20°
16 + 26 + 36 +_.....+20° SIS 37 ATd |
(a)1

(b) 2
(c)0
(d)3
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25. Find the unit digit of the product (9459)8" * (644)%7
IUTARST (9459)81 * (644)%7 T SHIS 37k AT FY|

26. Find the unit digit of the no. (7493)?% * (159)%°
(7493)253 * (159)6% HEAT & ShTS 37 AT P |
(a) 1
(b) 2
(c)3
(d) 4

27. The digit in unit's place of the product (2153)'%" * (8267)'* is:
TUTeAtheT (2153)"7 * (8267)'% ShTS TUTT T 37 ¢ |

(@) 9

(b) 3
()7
(d) 1

28. The unit's digit in the product 7" * 6% * 3% jg?
IUTeAtheT 7' * 6% * 3% 71 SehlS T 3ieh FAT§?

(a) 1

(b) 2
(c)3
(d) 4
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29. Find the unit digit of expressmn (424)111 *(727)'88 * (828)'%
424)"M * (727)188 * (828)'%° T STeh I SIS 3ieh AT Hx:

(
(a)3
(b) 4
(
(

c)5
d)8

30. Find the unit digit of the product (6324)"°" * (615)%'° * (341)*"®
(6324)77 * (615)'® * (341)*7 I[UTeTthel T SehlS 3ieh AT |
(a) 1

(b) 0
(
(

c)2
d)3

31. Find the units digit of the expression. 11" * 122 * 137 * 14* * 15° * 16°
TSI T SIS 3k ATT Y| 117 * 122 * 133 * 144 * 155 * 16°

(a) 3

(b) 4
(c)0
(d)7

32. What is the unit digit of (217)*'2 * (819)547 * (414)52 * (342)8'2
(217)413 * (819)547 * (414)624 * (342 812%%@%@%
(a)8

(b) 4

(c) 6

(d) 2
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33. Find the unit digit of the product (81)'%" * (82)10% * (83)1%5 * (84)1°7 * (85)1%9 * (86)""" * (87)"3
[UTTHE(81)101 * (82)103 * (83)105 * (84)107 * (85)109 * (86)'™ * (87)"3 T ZahTS 37 AT &

34. The unit digit of (198" * 6442%%) + 529'% - 207° - 343+%-625%7
(19810 * 64475 + 52912 - 2075 - 343*-625% I SHIS Heh FT §?
(@) 1

(b) 2

(c)4

(d)S

35. The unit digit of (8735%27 + 1693%) *(733917% - 244311) % 582795 jg
8735527 + 1693%69) *(73391256 - 244°11) x 582795

(
(a) 2
(b) 4
(c) 6
(d)8

36. Find the unit (8735)¢27 + (1693469) * 7359125 _2443'1) x 582795
(8735)827 + (1693%69) * 7359725 _2443") x 5827%5 IahTS 3iah AT Y|
(a)1

(b) 2

(c)3

(d) 4
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37. If x is a positive integer, what is the unit digit of (24)®* " * (33) **13) * (17)x*2 x (9)> ? I x Teh HeATcHS
qvﬁa;%-‘—_ﬂ-(24 2x+1) (33) (x+13) *(17)x+2 )ZXWWWWW-[?
(a) 4
(b) 6
()7
(d)8

38. (1875k)™ has unit digit 6 then find possible value of k.
(1875k)™ T SehTS 37eh 6 § AT k T FHTTAT AT AT FHIfST|
(a) 1

(b) 2

(c)3

(d)7

39. Find the unit digit of the no. 225°% 33
225% 3T SHIS 37 ATT HIIT|

(a)5

(b) 4
(c)6
(d) 2

40. The unit digit of (1373)® is
(13772)® T gehTg 37 ¢
(a) 1

(b) 3

(c)5

(d)7
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41. What is the unit digit of the sum of first 111 whole numbers?
SUH 111 U7 HEAT31T & 9T T FehTg 37k FAT 572
(a) 4
(b) &
(c)5
(d)0

42. Find the unit digit of the no. 4/569
41569 T SHIS 37 AT HIfT|

(a) 6

(b) 3
(c)7
(d)8

(97322 x 2348%2) =7 gre aiw 0 B

(a)2 (b} 6
(c) 7 (d) 9



If N=1+|2+|3+|4+.....+[100 then find the unit
digit.

A N =[L+2+B+[4+.....+[100 ¥ & T si%
Fitag|

(&) 3 (b) 6

()7 (d) 8



